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Part A: Grammar 
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

  سؤالدفترچةدردرسهرشروعازقبلگذاريهدفدقيقه 105  زبان تخصصي
  بنويسيد: را خود 10 از چند گذاري هدف ،منحصراً زبان درس هاي سؤال به گويي پاسخ شروع از قبل لطفاً

  بدهيد؟ صحيح پاسخ توانيد مي سؤال چند به سؤال 10 هر از
  است؟ بوده 10 از چند قبل آزمون در شما عملكرد
 چيست؟ امروز آزمون براي شما گذاري هدف

  امروز آزمون براي10ازچندگذاريهدف قبلآزمون10ازچند

1-Somebody  is  going  to  need  to  handle  the  project,  even  though  the  team  remains  optimistic  about
  meeting the deadline with everyone’s collaborative efforts and  dedication, …?
1) isn’t he  2) aren’t they  3) doesn’t it  4) don’t they
2-There  was  a  sudden  change  in  the  weather,  for  the  storm  clouds  gathered  quickly,  casting  a  dark

  shadow over the previously sunny and bright afternoon sky, …?
1) wasn’t it  2) did there  3) wasn’t there  4) didn’t they
3-Because the event was canceled, those who had planned to attend  were disappointed, leaving many

  scrambling to find alternative  activities for the weekend, …?
1) hadn’t they  2) wasn’t it  3) weren’t they  4) isn’t it
4-The meeting  had  hardly begun  when  the fire  alarm  went off,  and  although everyone  left  the  room

  quickly, they were frustrated by the interruption and subsequent delay, …?
1) weren’t they  2) had it  3) didn’t they   4) didn’t it
5-They had scarcely found shelter when the storm intensified, unleashing fierce winds and lightning, …?
1) didn’t it  2) had they  3) did it  4) hadn’t they
6-I remember nervously ... my research at an international conference in Seoul and feeling a rush of

  exhilaration when it was well-received by the audience.
1) to present  2) presenting  3) to have presented  4) being presented
7-He  encouraged  his  friend  ...  his  fear  of  public  speaking  by  offering  guidance,  support,  and

  opportunities to practice in a safe and nurturing environment.
1) by overcoming   2) overcoming   3) to overcome  4) who overcomes
8-As  much  as  he  tried  to  resist,  he  couldn’t  help  but  ...  the  way  she  handled  difficult  situations  with
  grace and composure.
1) be admired  2) admiring  3) admire  4) to admire
9-She, the embodiment of moral fortitude and empathy, made him ... the depth of his wrongdoings and

  make a heartfelt apology to those he had harmed.
1) be confronted  2) to confront  3) confront  4) confronting

10-After searching for hours, I finally found the hidden key ... behind the bookshelf and let out a sigh of relief.
1) tuck  2) tucking  3) to tuck  4) tucked

11-A couple of software updates … next month to address performance issues reported by users.
1) is scheduled for releasing  2) are scheduled to release
3) is scheduled to be released  4) are scheduled for release

12-Neither  the  CEO’s  absence  nor  the  recent  leadership  changes  …  operational  continuity  and  client
  satisfaction.

1) has disrupted our commitment to maintaining  2) disrupted our  commitment to maintain
3) disrupted our commitment to be maintained  4) have disrupted  our commitment to maintaining

13-The number of factors, including market volatility and geopolitical uncertainties, as well as changes
  in regulatory policies, … our financial projections for the upcoming quarter.

1) has impacted  2) impacting  3) have impacted  4) which can impact
14-More than one solution … during the brainstorming session to address the recurring software glitches.

1) were proposed  2) was proposed  3) have been proposed  4) is going to propose
15-Every  one  of  the  strategic  pivots  undertaken  by  our  organization  …  a  deep  understanding  of
  emerging market trends and consumer behavior shifts.

1) reflect  2) to reflect  3)  have reflected  4) reflects
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Part B: Vocabulary  
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16-Songwriter Arthur Schwartz regarded Ira’s efforts to be a truly  … feat, when one considers he was
  required to be brilliant within the most confining rhythms and  accents.

1) phenomenal   2) outrageous   3) chimerical   4) mundane
17-Scientific agreement suggests that dopamine’s function goes beyond … causing euphoria. Instead, it

  acts as a key reinforcer that helps repeat pleasurable experiences.
1) overtly  2) accordingly   3) directly  4) constantly

18-The  federal  government  should  immediately  undertake  the  development  of  a  national  adaptation
  strategy and build durable institutions to … that strategy and improve it over time.

1) progress  2) implement   3) launch  4) conduct
19-Military vehicles are commonly armored to … the impact of bullets, rockets and missiles, protecting
  the personnel inside from enemy fire.

1) counter  2) withdraw  3) bounce  4) withstand
20-Scheduling  algorithms  strive  to  achieve  a  balance  between  preventing  resource  starvation  and

  guaranteeing fairness for all parties … the resources.
1) maintaining   2) gaining  3) utilizing  4) acquiring

21-Air accident investigators were able to rule out human … as a cause of the crash.
1) flow  2) error  3) role  4) resource

22-A: I’m trying to stop smoking, but it is really hard for me.
  B: Well, at least you should try to … .

1) throw away  2) come away  3) break down     4) cut down
23-With this computer program, if you have no idea what the answer is, you can click on the button and
  it will give you a … .

1) flag  2) name  3) reward  4) hint
24-The noise from the roadwork was causing so much … for nearby residents that they made a formal

  complaint to the city council.
1) distribution   2) aggravation  3) encouragement  4) function

25-Despite his deep ... about politics, he felt a glimmer of hope  when the new, genuine candidate emerged
  during the election.

1) despotism  2) optimism  3) altruism  4) cynicism
26-As  a  young  entrepreneur,  he  was  …  to  think  that  success  would  come  easily  without  encountering

  any significant challenges along the way.
1) naive  2) crafty  3) cunning  4) diffident

27-Artists  often  …  the  styles  of  the  masters  to  learn  techniques  before  developing  their  own  unique
  perspectives.

1) eradicate  2) imitate  3) estimate  4) accelerate
28-The ecosystem is on the … of collapse, and urgent action is needed to prevent irreversible damage to

  the environment.
1) throe  2) grip  3) mercy  4) verge

29-The fertility of the soil in the valley ensured that the crops  thrived, resulting in a/an … harvest year
  after year.

1) bountiful  2) woeful  3) inadequate  4) inherent
30-Trapped  in  a  seemingly  endless  conversation  with  their  overly  talkative  neighbor,  the  couple  stood

  bored … on their front porch, wishing for a swift conclusion to  the one-sided dialogue.
1) infinite  2) capacious  3) rotten  4) rigid

31-The  new  employee’s  performance  not  only  meets  but  consistently  …  expectations,  impressing  her
  colleagues with her remarkable efficiency and dedication to her  role.

1) exceeds  2) ceases  3) confines  4) exhibits
32-The company cared about doing the  right thing because the managers had a clear … . That was the

  reason for its astonishing success.
1) hint  2) flavor  3) conscience  4) glory

33-To stay updated in his field, the  doctor regularly … up on the  latest research and medical advancements.
1) stays  2) breaks  3) brushes  4) takes

34-The lawyer … her client’s innocence with compelling evidence, arguing passionately in court to sway
  the jury’s opinion and secure a favorable verdict.

1) asserts  2) reviews  3) hunts  4) boosts
35-The  ancient  artifact  unearthed  from  the  tomb  puzzled  archaeologists  with  its  …  symbols,  which

  hinted at a lost civilization yet to be deciphered by modern scholarship.
1) philosophical  2) thrilling  3) obscure  4) exquisite
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Part C: Sentence Structure  
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct 
choice on your answer sheet.  

36-  
1) Since making his best efforts to maintain a professional demeanor, he felt a surge of jealousy when seeing his 

colleague receive the promotion which for it he had been worked towards for years. 
2) Because of his best efforts to maintain a professional demeanor, he felt a surge of jealousy when saw his 

colleague receiving the promotion he had been working towards for years. 
3) Although making his best efforts to maintain a professional demeanor, he felt a surge of jealousy when saw 

his colleague receiving the promotion that for it he had worked towards for years. 
4) Despite his best efforts to maintain a professional demeanor, he felt a surge of jealousy when he saw his 

colleague receive the promotion he had been working towards for years. 
37-  

1) Although everything you do should be dictated by other people’s opinions, but when you work in a 
group environment, you can’t ignore their influence on your career neither. 

2) Not everything you do should be dictated by other people’s opinions, but when you work in a group 
environment, you can’t ignore their influence on your career either. 

3) As a result of everything you do should be dictated by other people’s opinions, but also when you work 
in a group environment, you can’t ignore their influence with your career neither. 

4) Not only everything you do should be dictated by other people’s opinions, also when working in a group 
environment, you can’t ignore their influence on your career either. 

38-  
1) It has been said that the renowned architect, with the assistance of his team of talented designers, is 

designing a revolutionary building that will redefine modern architecture. 
2) It has said that the renowned architect, along with the assistance of his team of talented designers, is 

designing a building revolutionary redefine modern architecture. 
3) It has been said that the renowned architect, along with the assistance of his team of talented designers, 

are designing a revolutionary building that redefine modern architecture. 
4) It has said that the renowned architect, along with the assistance of his team of talented designers, are 

designing a building revolutionary redefining modern architecture. 
39-  

1) The four compact, Persian, antique, beautiful rectangular, beige carpets are irreplaceable. 
2) The four antique, compact, beige, rectangular, Persian, beautiful carpets are irreplaceable. 
3) The four beautiful, compact, antique, rectangular, beige, Persian carpets are irreplaceable. 
4) The four Persian, rectangular, beautiful, compact, beige, antique carpets are irreplaceable. 

40-   
1) Teaching himself how to assemble, modify, and enhancing 3D-printed robotic arms, at the engineering 

workshop, he progressed to more complex designs.  
2) At the engineering workshop, he progressed to more complex designs, teaching himself how to 

assemble, modify, and enhance 3D-printed robotic arms. 
3) He progressed to more complex designs at the engineering workshop, he taught himself how to 

assemble, modify, and enhance 3D-printed robotic arms. 
4) How to assemble, modify, and enhance 3D-printed robotic arms, he taught himself and progressed to 

more complex designs at the engineering workshop.  
Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations 
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

A: Sarah, our sales have been really low this quarter. 
B: Yeah, it’s been tough. We need a game plan to turn things around. 
A: Agreed. I think we’ve been …(41)… with our marketing strategy. 
B: You’re right. Our current approach isn’t working. Let’s think of a way to …(42)… up some business. 
A: Good idea. Maybe we can …(43)… by launching a new promotion that also boosts our social 

media presence. 
B: That sounds like a solid plan. Let’s get to work on it. 

41- 2) pulling the plug1) backing the wrong horse
4) barking up the wrong tree3) sitting on the fence

42- 2) beat1) wrap
4) break3) drum

43- 2) kill two birds with one stone1) grease the wheels
3) foot the bill  4) make a mountain out of a molehill
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A: Hey, did you hear about Julia’s new business venture? 
B: Yeah, she’s really proving to be a …(44)… . 
A: What do you mean? 
B: Well, she’s always been a quiet person, but her business is booming unexpectedly. 
A: That’s impressive! 
B: Absolutely! And you won’t believe it, but the stock price of her company went …(45)… the roof 

last week. 
A: Really? That’s incredible! 
B: Yes, investors are really excited about its growth potential. 

44- 2) cold fish1) lame duck
4) guinea pig3) dark horse

45- 1) above     2) up 
3) out     4) through 

Part E: Cloze Test  
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 

The first work that is now generally recognized as AI was done by Warren McCulloch and Walter Pitts. 
...(46)... by the mathematical modeling work of Pitts’s advisor Nicolas Rashevsky, they drew on three 
sources: knowledge of the basic physiology and function of neurons in the brain; a formal analysis of 
propositional logic; and Turing’s theory of computation. They proposed a model of artificial neurons 
...(47).... each neuron is characterized as being “on” or “off,” with a switch to “on” occurring in ...(48)... 
to stimulation by a sufficient number of neighboring neurons. The state of a neuron was conceived of as 
“factually equivalent to a proposition which proposed its adequate stimulus.” They showed, for 
example, that any computable function could be computed by some network of connected neurons, 
...(49)... the logical connectives (AND, OR, NOT, etc.) could be implemented by simple network 
structures. McCulloch and Pitts also suggested that ...(50)... could learn. Donald Hebb (1949) 
demonstrated a simple updating rule for modifying the connection strengths between neurons. His rule, 
now called Hebbian learning, ...(51)... an influential model to this day.  
    Two undergraduate students at Harvard, Marvin Minsky and Dean Edmonds, built the first neural 
network computer in 1950. The SNARC, ...(52)..., used 3000 vacuum tubes and a surplus automatic 
pilot mechanism from a B-24 bomber to ...(53)... a network of 40 neurons. Later, at Princeton, Minsky 
studied universal computation in neural networks. His Ph.D. committee was ...(54)... about whether this 
kind of work should be considered mathematics, but von Neumann reportedly said, “If it isn’t now, it 
...(55)... someday soon.” 

46- 4) Inspiri3) They were inspired2) Inspired1) To inspire ng 
47- 4) whether3) in that2) which1) in which
48- 4) nature3) response2) revenue1) result
49- 4) all that3) that all2) all those1) and that all
50- 2) defined suitably network1) networks are suitably defined s 

4) suitably defined networks3) defined networks suitably
51- 4) utters3) surrenders2) ponders1) remains
52- 2) as was it called1) called it as was

4) as it was called3) it was as called
53- 4) jeopardize3) consult2) simulate1) agitate
54- 4) redundant3) confident2) skeptical1) benign
55- 4) is3) will be2) has been1) was

Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions 
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

PASSAGE 1:
Growing tightly packed together and collectively weaving a dense canopy of branches, a stand of red
alder trees can totally dominate a site to the exclusion of almost everything else. Certain species such as
salmonberry and sword ferns have adapted to the limited sunlight dappling through the canopy, but
few  evergreen  trees  will  survive  there;  still  fewer  can  compete  with  the  early  prodigious  growth  of
alders. A Douglas fir tree reaches its maximum rate of growth ten years later than an alder, and if two
of them begin life at the same time, the alder quickly outgrows  and dominates the Douglas fir. After an
alder canopy has closed, the Douglas fir suffers a marked decrease in growth, often dying within several
years. Even more shade-tolerant species of trees such as hemlock may remain badly suppressed beneath
aggressive young alders.
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     Companies engaged in intensive timber cropping naturally take a dim view of alders suppressing 
more valuable evergreen trees. But times are changing; a new generation of foresters seems better 
prepared to include in their management plans consideration of the vital ecological role alders play. 
Among the alder’s valuable ecological contributions is its capacity to fix nitrogen in nitrogen-deficient 
soils. Alder roots contain clusters of nitrogen-fixing nodules like those found on legumes such as beans. 
In addition, newly developing soils exposed by recent glacier retreat and planted with alders show that 
these trees are applying the equivalent of ten bags of high-nitrogen fertilizer to each hectare per year. 
Other chemical changes to soil in which they are growing include a lowering of the base content and rise 
in soil acidity, as well as a substantial addition of carbon and calcium to the soil. 
     Another important role many alders play in the wild, particularly in mountainous areas, is to check 
the rush of water during spring melt. In Japan and elsewhere, the trees are planted to stabilize soil on 
steep mountain slopes. Similarly, alders have been planted to stabilize and rehabilitate waste material 
left over from old mines, flood deposits, and landslide areas in both Europe and Asia. 

56- What is the author’s main purpose in the passage?  
1) To argue that alder trees are useful in forest management 
2) To explain the life cycle of alder trees  
3) To criticize the way alders take over and eliminate forests 
4) To illustrate how alder trees control soil erosion  

57- Alder trees can suppress the growth of nearby trees by depriving them of ... . 
1) nitrogen 2) sunlight 3) soil nutrients 4) water 

58- According to the passage, hemlock trees ... . 
1) are similar in size to alder trees 
2) interfere with the growth of Douglas fir trees 
3) reduce the number of alder trees in the forest 
4) need less sunlight than do Douglas fir trees 

59- It can be inferred from paragraph 2 that previous generations of foresters ... . 
1) did not study the effects of alders on forests 
2) did not want alders in forests 
3) harvested alders for lumber 
4) used alders to control the growth of evergreens 

60- According to the passage, alders are used in mountainous areas to ... . 
1) prevent water from carrying away soil 2) hold the snow 

4) provide material for housing3) protect mines
PASSAGE 2: 

 

Barbed wire, first patented in  the United States in 1867, played an important part in the development of
American farming, as it enabled the settlers to make effective  fencing to enclose their land and keep
cattle away from their crops. This had a considerable effect on  cattle ranching, since the herds no longer
had  unrestricted  use  of  the  plains  for  grazing,  and  the  fencing  led  to  no  more  conflict  between  the
farmers and the cattle ranchers.
  Before barbed  wire  came into general  use,  fencing  was often  made from serrated wire,  which  was
unsatisfactory  because  it  broke  easily  when  under  strain,  and  could  snap  in  cold  weather  due  to
contraction. The first practical machine for producing barbed wire was invented in 1874 by an Illinois
farmer, and between then and the end of the century about 400 types of barbed wire were devised, of
which only about a dozen were ever put to practical use.

  Modern  barbed  wire  is  made  from  mild  steel,  high-tensile  steel,  or  aluminum.  Mild  steel  and
aluminum barbed wire have two strands twisted together to form  a cable which is stronger than single-
strand wire and less affected by temperature changes. Single-strand wire, round or oval, is made from
high-tensile steel with the barbs crimped or welded on. The steel wires used are galvanized ― coated
with zinc to make them rustproof. The two wires that make up the line wire or cable are fed separately
into a machine at one end. They leave it at the other end twisted together and barbed. The wire to make
the barbs is fed into the machine from the sides and cut to length by knives that cut diagonally through
the wire to produce a sharp point. This process continues automatically, and the finished barbed wire is

  wound onto reels, usually made of wire, in lengths of 400 meters or in weights of  up to 50 kilograms.
61-What is the main topic of the passage?

1) Cattle ranching in the United  States  2) A type of fencing
3) Industrial uses of wire     4) A controversy over land use
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62-The word “devised” in paragraph  2 could be best replaced by which of the following?
1) sustained  2) spread  3) invented   4) resisted

63-What is the benefit of using  two-stranded barbed wire?
1) Improved rust-resistance  2) Increased strength
3) More rapid attachment of barbs   4) Easier installation

64-The knives referred to in paragraph 3 are used to … .
1) separate double-stranded wire                          2) prevent the reel from advancing too rapidly
3) twist the wire  4) cut the wire that becomes barbs

65-What is the author’s purpose in the third paragraph?
1) To explain the importance of the wire              2) To outline the difficulty of making the wire
3) To describe how the wire is made                     4) To suggest several different uses of the wire
PASSAGE 3:

Alaska is disappearing slowly, but surely. How can a whole state be disappearing? The problem is that
Alaska’s glaciers are melting. The  state has more than 100,000  glaciers which account for about 75,000
square  kilometers,  or  five  percent,  of  the  state’s  area.  That  is  an  area  of  land  larger  than  Ireland!
Scientists believe, according  to a recent report by the US Geological Survey, that ninety-nine percent
of  Alaska’s  glaciers  will  diminish  in  the  future.  This  seems  mainly  due  to  the  increase  in  global
temperatures.  Since  the  1960s,  the  average  year-round  temperature  has  increased  by  almost  3°C
degrees. Additionally, the average winter temperature has increased by over 6°C degrees.
  Another  problem  facing  Alaska  is  its  thawing  permafrost.  Much  of  the  land  in  Alaska  used  to  be
permanently frozen or frozen for most of the year. Now, the thawing permafrost is causing a number
of problems for people living in  Alaska. Roads and utility poles are collapsing as the ground around
and under them warms and softens. Also, the hard permafrost that originally prevented beaches from
eroding  during  violent  storms  is  now  melting.  For  villages  on  small  low  islands,  one  terrible  storm
could wipe out the entire community.
  The melting permafrost and increasing temperatures are both  affecting the forests of Alaska. As the
permafrost under the forests melts, insects that normally do not turn up until the warmer seasons are
appearing sooner. The spruce bark beetle, for example, is increasing in numbers as a result of warmer
winter temperatures. It usually takes about two years for these  beetles to grow and reproduce in very
cold  weather.  However,  due  to  the  increase  in  temperatures,  spruce  bark  beetles  are  reproducing
faster and damaging as many trees  in one year as they previously damaged in two.

  Some  scientists  believe  that  human  activity  is  linked  to  a  global  increase  in  weather  temperature.
Whatever the cause of rising temperatures may be, the fact remains that temperatures are warming,
affecting Alaska for the worse. Horribly, this could be a preview of what will happen to the rest of the
world in the next century.

66-What is the main idea of the passage?
1) Alaskan trees are dying.
2) Warmer temperatures are affecting Alaska.
3) Why does Alaska have a lot of glaciers?
4) Alaskan villages must relocate.

67-What do some scientists predict, according to the passage?
1) Almost all of Alaska’s glaciers will melt and disappear in the future.
2) Spruce-bark forests will become extinct in Alaska.
3) Global temperatures will start decreasing by the year 2100.
4) Most Alaskan villages on the small islands will be wiped out.

68-The forests in Alaska are being destroyed because ... .
1) more insects are attacking them
2) there is not enough land for the trees to live on
3) spruce trees don’t grow well in the warmer weather
4) the water from the melting glaciers is drowning the trees

69-The underlined word “they” in  paragraph 3 refers to … .
1) trees    2) beetles
3) temperatures   4) forests

70-The passage would most  probably continue with a discussion of …  .
1) how rising temperatures can affect the whole world negatively in the future
2) the importance of environment for ecology
3) why ice is necessary to the Earth
4) how human activity can negatively affect Alaska
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  دفترچه سؤالدفترچه سؤال
  

  هوش و استعدادهوش و استعدادآزمون آزمون 
  ة دوم)ة دوم)(دور(دور
  مردادمرداد  1919

  
  

  2020تعداد كل سؤالات آزمون: تعداد كل سؤالات آزمون: 
  دقيقهدقيقه  3030گويي: گويي:   زمان پاسخزمان پاسخ

  
  گروه فني توليدگروه فني توليد      
  

  زاده اصفهاني حميد لنجان مسئول آزمون

  فاطمه راسخ  ويراستار

  محيا اصغري مدير گروه مستندسازي

  واهخ عليرضا همايون مسئول درس مستندسازي

  طراحان
نيلوفر اميني، پور، حميد اصفهاني، فاطمه راسخ، خانسپهر حسن

  محمدرضا اسفنديار  آرين توسل، نازنين صدقي،

 معصومه روحانيان آراييچيني و صفحه حروف

  حميد عباسي ناظر چاپ

  
..دديينن                           كك  ممررااججععهه  ككااننوونن  تتيياا  سس  ددرر  خخوودد  يصصي  ششخخ  صصففححةة  ببهه  پپااسسخخههاا،،  ممششااههددةة  برراايي 
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دقيقه 30  استعدادتحليلي

دارد؟ متفاوتي  ساختمان  ّخصشده،  مش  واژة  كدام   -251

تيرهبخت نكن.  رها  اينجا  را  يام  ا  از  خسته  تيرهبخت  اين   (1

نوكيسه است.  حماقت  كه  نكن  بخشش  طمع  نوكيسهها  از   (2

غمخانه بود.  من  غمخانهي  اين،  كه  نستاند  را  جانم   (3

بلندقامت برسان!  را  ما  سلام  تاريخ،  بلندقامتان  به   (4

است؟ نزديكتر  خندان»  گريان،  «دوان،  واژههاي  ساختمان  به  واژه  كدام  ساختمان   -252

درمان  (2 پريشان   (1

جانان  (4 بهتان   (3

هر در  است.  شده  انتخاب  «خوارزمي»  نشر  از  فولادوند»  «عزّتاالله  ترجمهي  و  آرنت»  «هانا  نوشتهي  «خشونت»  كتاب  از  بعدي  پرسش  سه  متنهاي   *
كنيد. انتخاب  متن  تكميل  براي  را  گزينه  بهترين  سؤال، 

عدم فقط  و  نگيرد  سرچشمه  خويشتنداري  از  اگر  متانت»  و  «بيطرفي  ميكند.  كمك  آن  پيشبرد  به  نه  و  ميگردد  عقلانيت  سبب  نه  هيجانات  فقدان   -25

خـود از  عاقلانـه  و  منطقي  پاسخي  كسي  كه  اين  براي  باشد.  «دهشتانگيز»  راستي  به  ملناپذير»  تح  «تراژديهاي  برابر  در  ميتواند  بنماياند،  را  ادراك 

... پس  بيايد.  هيجان  به  اول  بايد  كند،  ابراز 

نميشود. منجر  عقلاني  رفتارهاي  به  گاه  هيجاني  رفتارهاي   (1

نيستند. متضاد  صفت  دو  «هيجاني»  و  2) «عقلاني» 

ميكند. طلب  را  هيجانات  از  دوري  همواره  عاقلانه  رفتارهاي   (3

هستند. جمعناشدني  صفاتي  «هيجاني»  و  4) «عقلاني» 

بدين هميشه  وسيله  هر  مانند  و  است  ابزاري  ماهيت  داراي  خشونت  نيست.  چنين  خشونت  ولي  است،  حكومت  هر  يت  ماه  مقومات  از  فيالواقع  قدرت   -

254 ... و  گردد،  توجيه  ميكند  تعقيب  كه  غايتي  طريق  از  و  شود  هدايت  كه  دارد  نياز 

است. كمبهاتر  خشونت  از  كه  دارند  نياز  مشروعيتي  به  خود  قدرت  اعمال  براي  حكومتها   (1

است. پذيرفتنيتر  خشونتورزي  توجيه  ميانديشند،  قدرت  ماهيت  به  كه  آنان  براي   (2

است. تناقض  در  آن  ابزارهاي  با  كه  انسانهاست  همهي  براي  صلحطلبي  حكومت،  هر  ماهيت   (3

گيرد. قرار  چيز  هيچ  ماهيت  نميتواند  باشد،  ديگري  چيز  وسيلهي  به  توجيه  نيازمند  آنچه   (4
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جنگنـد لازم نبـود اول    اگرچه بيشتر كارهاي جانورشناسان به نظر من بسيار جاذب است، . . . . براي اينكه بدانيم مردم به خاطر وطن خـويش مـي   - 255

پذيري و پرخاشگري معلول ازدحام مفرط  يم حساسيت و تحريكببر  كه پي را در مور و ماهي و ميمون كشف كنيم. براي اين» تازي گروهي غرايز يكّه«

  هاي پست و كثيف هر شهر براي ديدن اين موضوع كافي بود.  ها آزمايش كنيم: يك روز صرف وقت در محلّه است، نيازمند نبوديم با موش

  ي تاريخ به طور عمومي در حال تكامل (فرگشت) بوده است. ) رفتارهاي جانوران در همه1

 ي بارزتري از رفتارهاي جانوران ديگر است.  رفتارهاي آدمي نمونه )2

  ي ما صدق كند. فهمم چگونه ممكن است اين كارها در مورد مسأله ) اما نمي3

  ي آدميان و ديگر جانوران داريم. هاي بيشتري براي تصديق رابطه ) نياز به آزمايش4

 ر كدام گزينه بهتر رسم شده است؟د» غيركفتارها«و » ها يوزپلنگ«هاي  نسبت بين دسته - 256

1 (    2 (
  

3 (    4 (  

  در كدام گزينه بهتر بيان شده است؟» اعداد اول«، »اعداد مضرب سيزده«، »اعداد دورقمي«هاي  اعداد طبيعي، نسبت بين دسته ةدر دست - 257

1 (    2 (
    

3 (
  

  4 (  

درستي كوك كرديم. چنـد   به 12ماند، روي عدد  شش دقيقه عقب ميو بت، سيساعت عقربه اي و معمولي را كه در هر دوازده ساعت در جرياني ثا - 258

  دقيقه بعد، اين ساعت دقيقاً ساعت سه و نيم را نشان خواهد داد؟

1( 219    2( 5/220  

3( 222       223/5  (4
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  شوند؟ شمار بر هم منطبق مي شمار و دقيقه هاي ساعت ، عقربه6صبح، چند دقيقه پس از ساعت  7و  6اي معمولي، بين ساعت  در يك ساعت عقربه - 259

1 (4315     2 (83111  

3 (432 5    4 (83211  

  لاعات زير در دست است:اش اطّ دربارة علي و خانواده - 260

  تر است. ال از او بزرگس 5و مسعود برادر علي،  1385د سال الف) علي متولّ

  ساله بوده است. 29دنيا آمده است كه مادرشان  ب) برادر ديگر علي، سعيد، زماني به

  سال بوده است.  15، 1395سه برادر در سال  ج) ميانگين سنّ

  د) اين خانواده فرزند ديگري ندارد.

  ؟ترين فرزندش است برابر سنّ بزرگ در چه سالي سنّ مادر خانواده دو

1  (1404    2 (1406   

3 (1408    4 (1401   

 داريم؟» دوشنبه، جمعه، شنبه«ترتيب چند  هايي از ماه افتاده است كه عددهايي زوجند. در اين ماه به در مهرماه سالي خاص، سه روزِ يكشنبه در تاريخ - 261

  جچهار، چهار، پن) 2    چهار، پنج، پنج) 1

  چهار، پنج، چهار) 4    پنج، چهار، چهار) 3

مرداد دوشنبه باشد و شـخص   23سالگرد تولدش، به اندازة عدد سنش، شمع روي كيك تولدّش را فوت و خاموش كرده است. اگر امروز شخصي در هر  - 262

اش  تير سال آينده، در مجموع چند شمع تولدّ در زندگي 15تا  او سالگي خود را جشن گرفته باشد، مدنظر شش روز بعد از هفت تا شنبة قبلي تولدّ سيزده

 خاموش كرده است؟فوت و  

1 (105    2( 91  

  ها بستگي دارد. ) به كبيسه بودن يا كبيسه نبودن سال4    78) 3

@Tahlilazemoon
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ي قبل  هفته ي شنبه بعد است، چند روز پس از فرداي روزي است كه ديروزش سه ي ي هفته و روز قبلش، جمعههفت روز پيش از فرداي روزي كه د - 263

 بود؟

1 (10    2 (11  

3 (12    4 (13  

بزرگترين فرزند خانواده است و نه كوچكترين، نيمـا بزرگتـرين پسـر خـانواده     اند، به شكلي كه مينا نه   خانواده نا، نيما و امين چهار فرزندمينا، مبي - 264

  از مبينا كوچكتر است.  نيست، امين نيز

 شود؟ دقيق مشخّص مي رو  به طور خانواده در جدول روبه ، جايگاه چند تن از اين چهار نفر دربر اساس اين اطّلاعات

  ) يك نفر1

  ) دو نفر 2

  ) سه نفر 3

  ) هر چهار نفر4

، »سـه نفـر از مـا   «، دومي گفت: »چهار نفر از ما«لي گفت: آموزان پرسيد چند نفر ديروز ورزش كردند. او نفره شد و از دانش مي وارد كلاس پنجمعلّ - 265

انـد راسـت و    دانست كساني كه ورزش كرده معلم مي». كدام از ما هيچ«و پنجمي گفت: » يك نفر از ما«، چهارمي گفت: »دو نفر از ما« سومي گفت:

 اند؟ گويند. چند نفر ورزش كرده اند، دروغ مي كساني كه ورزش نكرده

  ) دو نفر2    ) يك نفر1

  ) كسي ورزش نكرده است.4    ) سه نفر3

  ، در آب به شكل زير درآمده است. شكل اصلي كدام بوده است؟تصوير جسمي در آينه - 266

1 (

  

  2 (  

3 (    4 (  

 فرزند چهارم فرزند سوم فرزند دوم فرزند نخست
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  علامت سؤال را در الگوي صورت سؤال تعيين كنيد. چهار پرسش بعدي، شكل جايگزين* در 

267 -   

  

؟

  

1(   2 (
  

3(   4 (  

268 -   

    

؟

  

1(   2 (
  

3(   4 (
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269 -   

1 (

  

2 (  

3 (

  

4 (

  

270 -     

1 (    

2 (  

3 (    

4 (  

 

؟

؟
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  توجه و تمركز خودارزيابي
  1403 مرداد 91آزمون         attention electiveS   انتخابيتوجه  ارزيابي: سومبخش 

  !دانش آموز عزيز

آموزان را  دانش يشناخت يها مهارت نيا. مهم است اريبس يليتحص تيبه موفق يابيمطالعه و دست ،يريادگي يتوجه و تمركز برا
. كنند تيريمتمركز بمانند و به طور موثر زمان و منابع خود را مد و تكاليف كارها يكنند، رو دريافتتا اطلاعات را  سازد يقادر م

كمك به  يبرا. موثرتر شود يريادگيتجربه  يمنجر به درك بهتر مطالب، نمرات بالاتر و به طور كل تواند يبهبود توجه و تمركز م
مهم است كه به هر سؤال صادقانه .  ديكن ارزيابيخود را  ريز سوالات اب ميكن يتوجه خود، از شما دعوت م يها تيظرف يابيارز

  . ديخود قدم بردار يليعملكرد تحص يارتقا يبرا ديتوان يم شرفت،يپ يها نهيبا درك نقاط قوت و زم. ديپاسخ ده

دقت داشته . علامت بزنيد پاسخبرگسوالات را به دقت بخوانيد و نزديكترين پاسخ مرتبط با خود را انتخاب و در 
  .شروع شده است 271باشيد كه سوالات از شماره 

 .توانم روي دستورات معلمم تمركز كنم حتي اگر سر و صدايي در كلاس وجود داشته باشد من مي .271
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1      

 

 .را ناديده بگيرم و محيط توانم صداي پس زمينه مي درس خواندنهنگام مطالعه يا  .272
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1      

 

 .كنند توانم روي گفتگو با دوستانم تمركز كنم حتي اگر افراد ديگري در اطراف ما صحبت  من مي .273
  هميشه. 4    گاهي اوقات. 3    ندرتبه . 2    هرگز. 1     

 

 .توجه نكنمپرتي  عوامل حواسبه توانم  هنگام انجام تكاليف مي .274
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1     

 
 .كنند  پرت نمي را صداهاي جزئي حواس من تكليف،هنگام كار روي يك  .275

  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1    
 

 .ام متمركز بمانم مدرسه تكاليفتوانم روي  روشن باشد، مي محيطحتي اگر تلويزيون در  .276
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1    
 

 .آموزان ديگر صحبت كنند توانم به معلمم توجه كنم حتي اگر دانش من مي .277
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1    
 

 .شوم خودم پرتي توانم مانع از حواس گوش دهم، مي يهم به اطلاعات مهمخوا وقتي مي .278
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1   

 

 .متمركز بمانم آزمونتوانم در حين  حتي اگر صداهايي در راهرو وجود داشته باشد، مي .279
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1   
 

 .و روي آنچه مهم است تمركز كنم در نظر نگيرماطلاعات نامربوط را  توانم من مي .280
  هميشه. 4    گاهي اوقات. 3    به ندرت. 2    هرگز. 1   
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